Remember: Is this the most efficient method?
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Step 1 +E 3 : g g
Layout the calculation

Step 2

The sum of 4 and 6 is 23454
10, so there are no ones +_ 596
and 1 ten n 0
Step 3

The su_m of 5 tens and 23454
9 tens is 14 tens, plus my -y

extra 10 is 15 tens, which
IS 150. There are 5 tens and 5 0
1 hundred. 11

Step 4 23454
The sum of 4 hundreds + 596
and 5 hundreds, plus my 050
extra 100 is 10 hundreds, 111

which is 1000. There are
no hundreds and
1 thousand.

Step S 23454

The sumof 3thousands . ©ggg
plus my extra thousand is

4050
4000. 11 3
Step 6 23454

The sum of 20 thousands +__ 396
and zero is 20,000. 24050

111




S'[eD 1 52344
Layout the calculation - 1187

3 1
Step 2 s
The 1's column: Because 7 1187

Step 4

The 10’s column: Because 8 231
tens is greater than 3tens, 52344
exchange a 100 for 10tens. . 1187
So there are now 2 7
hundreds and 13 tens (130).

" 1 -

IS greater than 4, exchange a
ten for ten 1’s. So there are
now 3 tens and fourteen 1’s.

31
Step 3 52344
Now, 14 ones subtract 7 ones 1187
makes 7 ones — record this 7

Step 5 273 1
Now, 13 tens subtract 8 52344
tens makes 5 tens — - 1187
record this _ 2l
1

Step 6 R
The 100’s column: 2 52344
hundreds subtract 1

hundred makes 100 — - 1187
record this 157




Step 7

The 1000’s column:

2 thousands subtract

1 thousand makes one
thousand — record this

Step 8

The 10,000’s column:
There are only five
10,000’s with nothing to
subtract — record this

2 3 1

22544

- 1187

1157

1
2 31

22344
1187

21157



Step 1
Layout the calculation

Step 2

Multiply the ones digit
by the multiplier — 7 x
9 = 63.] have 3 ones
and 6 tens.

X

2

1

X

1

Step 3
Multiply the tens digit by
the multiplier — 10 x 9 =

90, plus my 6 tens = 150.

| have 5 tens and 1
hundred.

Step 4
Multiply the hundreds

digit by the multiplier
200 x 9 = 1800, plus
my 1 hundred =
1900. | have 1
thousand and 9
hundreds.
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Step 3
Multiply the tens

digit by the ones

Step 1 3 42 5 multiplier. 20 x 7 = 3 42 5
Layout the X 4 7 140, plus my 3tens 47
calculation (3425 x 7) =170. | have 1 7.5 (3
0 (3425 40) hundred and 7 o s
tens.
Step 4
Step 2 Multiply the
Mulﬁply the ones 3124121 hundreds digit by 3 42 5
digit by the ones X = Y the ones multiplier. %X 4 7
multiplier. 5 x 7 = 3 5 (3425x7) 400 x 7 = 2800, 29: 755 (3
35. | have 5 ones 0 (3425x40)  plus my 1 hundred 0 (34
and 3 tens. = 2900. | have 2

thousands and 9
hundreds.



Step 5

Multiply the
thousands digit by
the ones multiplier.
3000 x 7 = 21,000,
plus the 2 thousands
= 23,000.

Step 6

Multiply the ones
digit by the tens
multiplier. 5 x 40 =
200. | have 0 ones, O
tens and 2

hundreds.

3 4 2 5
X 4 7

2 3,9,7,5 (3425x7)
0 (3425 x40)

3 4 2 5
X 4 7

2 3,9, 7,5 (3425x7)
, 0 0 (3425x40)

Step 7

Multiply the tens
digit by the tens
multiplier. 20 x 40 =
800, plus the 2
hundreds = 1000. |
have 0 hundreds
and 1 thousand.

Step 8

Multiply the
hundreds digit by
the tens multiplier.
400 x 40 = 16,000,
plus the 1 thousand
=17,000. | have 7
thousands and 1
ten thousand.

3 4 2 5
X 4 7

2 3,9,7,5 (34
1020 0 (34

3 4 2 5
X 4 7

2 3,9,7,5 (34
173_,0;_10 0 (34




Step 9 Step 10

Multiply the 3 42 5 Now, add both 3 4 2 5
thousands digit X 4 7 of the partial X 4 7

by the tens 2 3,9,7,5 (3425x7) answers 2 3,9,7,5 (3425«
multiplier. 3000 X 1 3, 7,0, 0 0 (3425x40) togetherto get 1 3, 7.0, 0 O (3425x
40 = 120,000, your final 16009 75

plus the 10,000 answer. T

= 130,000. |

have 3 ten

thousands and 1

hundred

thousand.



Step 1

Layout the calculation. EItC)e\/f/) r:;an OUDS 5 6
Place the dividend £ah dy g P
(number you're 3‘ 7 8 4 6 0 unareds are 31718 4 6

there in 18007

dividing) inside the grid There are 6 groups.

and the divisor (number
you're dividing it by) on

the outside.

Step 2 Step 4

How many groups of 3 9 How many groups 2 6 1

thousands are there in of 3 tens are there 3718 4 g
1 . )

7 thousands? There 3/7°8 4 6 in 4 tens? There is

are 2 groups with 1 1 group with 1

group remaining. group remaining.



Step 5

How many groups of 3 2 6 15 rl
ones are there in 16 ; ;
ones? There are 5 3‘ /78 476
groups with 1 group

remaining.

When you reach the
last digit, any
remainders are written
after with an ‘r’.



